Multiplying 3-Digit Numbers m
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' . There are 473 ml in
each hottle,

-« makes a drink by mixing 4 bottles of fruit juice in a container.

How big should the container be?

The calculation we need to do
is 473 x 4. Let's look at
different ways we can do
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Why dae&rvminung only happen in the tens? |

473 x 2 =946

Multiply the ones.
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Multiply the tens.
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Multiply the hundreds.

Add the 1 hundred.
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. How does iplyi 2 us
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/‘ I ’\ 400x2 =800
70x2 = 140

‘ 400 70 3 3x2= 6

< 473 x2 = 946
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10 |i '.\.‘ Multiply the ones.
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Don’t forget to add
the 1 ten,
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J' Multiply the tens. ' °
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Q 473 ml HOW this
—— image help
T us? Whatis
. . J this called?

? 9 4 6
473 mlx2=946 ml + 9 4 6
473 ml x 4 = 1892 ml A

™
- mixes 4 bottles, each containing 473 ml of juice.
She needs a container that will hold at least 1892 ml.

Guided Practice

o Multiply.
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(@) 8x532= (b) 425x9=

* 8x532=532x8
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Make one multiplication equation.
The product must be less than 1000

Is it possible not to repeat any digit in
x = ?
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Worksheet 11

Multiplying 3-Digit Numbers

° Multiply to find:

(@) 271x8= (b) 345x6=
200x8= 300%x6=
70x8= 4O x6=
1x8= 5x6=

" " +

(c) 577x5= (d 678x9=
500x5= 600x9=
70x5= 70x9=
7x5= 8x9=

+ + +




e Multiply.

(a) 7 4

M7 x7 =

(c) 8 5

(€ 633x5=

(g 8x379=

() 687x9=

Further Multiphcation and Division

(b)

(d)

(b)
(d)
0}
(h)
0

Poge 120

564 x3 =

488x8 =

4x627=

6 x465=

953x2=

9x297 =

532x7=




Journal activity

In your jouwrnal have a go at answering this question. Your
answer should contain at least 3 examples, using pictures and
diagrams to answer yowr question. Make sure you finish your
journal with an explanation. An example of a good jouwnal is
shown in the next slide.

Ch4 L11: There are 8 hags of orunges and each bhag weighs
135g. Show 3 different methods you could use to calculate
how many oranges there are altogether.



Example of a good jowrnal entry.
Example: There are 6 cereal hoxes, each weighs 234 grams. Using words,
pictures and diagrams show three different ways yow could calculate how much
cereal there is altogether. Explain your findings.

22
Method 1: 234
X 6
200 x 6 = 1200
30 x 6 =180
4 x 6 =24

1200+180+24= 1404

Method 3: 234 234 234 234 234 234

Explanation: All three methods will calculate the answer to the questiorn.
Method 1 is a fast and efficient method. Method 2 allows me to use mental
maths to solve the question. It also breaks down the question into easier steps.
Method 3 allows me to visualise the problem. This would be a better method for

more complicated questions.



Examples of children's journals.
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ANSWERS



Multiplying 3-Digit Numbers

o Muiltiply to find:

(@ 271x8=| 2168 (b) 345x6=| 2070
200x8=| 1600 300x6=| 1800
70x8=| 560 40x6=| 240
1x8= 8 5x6= 30
1600 |*| 560 8 1800 |*| 240 30
=| 2168 =| 2070
(c) 577x5=| 2885 (d) 678x9=| 6102
500x5=| 2500 600x9 = | 5400
70x5=| 350 70x9=| 630
7x5= 35 8x9= 72
2500 |+| 350 35 5400 |+| 630 72
=| 2885 =| 6102




(c) 8

(e 633x5=
(@ 8x379=

() 687x9=
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Further Multipication and Division

(b)

(@

(b)
(d)
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4x627=

2508

6 x465=

2790

953x2=

1906

9x297 =

2673

532x7=

3724




